= R GEX

T XKEHLLICET HERAR(RIER D ERER)

BARRDER Z{ERth o) B iE

& O & B 524BN060-1

] il £ KiRA

AT £ ih P —FE—FF KR

i OE O BEFREELAEHEERLIAS —FiARtUE—

1:200,000
Y s =K

1:25,000
4 -

% 352 X (s=1:200,000)

1B [X](s=1:25,000)

FRISERICE DR L EBfRR AR ()R 5JHF 235 T RERFHRE T HI5E(121E. ELEBEROROERZEFETNILESEL, |

£



= A o R X A

HA3—1 BEDEINOHLHLM. ELLVEFDEENDHLHLHDRER

[ mzzE

B RISGESE

ENE R

BE S

—524BN060-1__|_BmA ARA I

] T AR

4
\ /
\ et

i,
) N g

50

100m

1/2,500

R

m Lim
A T i

BEOEZTNOHLH T ORI
[ ELWEE0OETAOHZLiORE

M AIRR

TREDBEIZLDHH100kN/ ME B2 DEE

[ % 0#EENmEEZ5HEH

EFR



SEMMORRREAE
HHA3I—1 BEOEThOHLLH ELLEEOSTNOHETHNBRER _ | #EsE BHISELE
2 8 & o0 & EFES  5248N060-1 | EEE FeEsh A AR
192. TN
N

@J//L

T

)
\/‘
168.8
1

=20

J’Cﬂ‘f’A\ I
I

—SEEma

[

A

\ ~
0 0 20 40m
1/1,000
1651 /

M AIRR

BEOEZTNOHLH T ORI
[ ELWEE0OETAOHZLiORE

[ % 0#EENmEEZ5HEH

TREDBEIZLDHH100kN/ ME B2 DEE

EFR



SMERHh D FR IR X 19 ERE
HR3—2 BEMITERT HEBESNAHEHEICET HEE/1) REEE | B RIGESE
[ EEREONE | EhES 5245N060 1 ERE | KIRA [ male 7w ] AR
- SMERIH O FinICHEET 51 SMfERHA
A4S TREOBBOEILADKES TREDOHEBSSLODKRES TREOBBOEILADKES TREDEBESSLHADKRES
= = i AN 7 Y HE E | = = i AN =3 Y HVE =S| =
] 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
9 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
3 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
4 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
5 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s — -~ — —| Zh st -~ — — — Th s — — ~ — —| Eh st — ~ — — —
6 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/mi%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s — -~ — —| Zh st -~ — — — Th s — — ~ — —| Eh st — ~ — — —
; 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/miZ#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zh st -~ — — — Th s — — ~ — —| Eh st — ~ — — —
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM%Z#B % % ~ ImERBZ D ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM%Z#B % % ~ ImEBEZD ~ 100kN/mM%Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ Th s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~

|



